

Republic of the Philippines

PROVINCIAL GOVERNMENT OF ORIENTAL MINDORO

Provincial Capitol Complex, Calapan 5200, Oriental Mindoro

BIDS AND AWARDS COMMITTEE

NOTICE OF AWARD

December 01, 2021

MR. DEMETRIUS H. GOZAR
Proprietor
SGDG CONSTRUCTION AND SUPPLIES
Sapul, Calapan City, Oriental Mindoro

Dear Sir:

Pursuant to BAC Resolution No. 520, Series of 2021, we are happy to notify you that the contract for the Construction of Open Canal at So. Centro, Quinabigan, Pinamalayan, Oriental Mindoro (Construction of Canals; Source of Aggregate Bongabong River Morente; Canal Station Limit; Section 1 0+000.00-0+300.00 Leftside; Section 2 0+000.00-0+188.00 Leftside; 0+188.00-0+600.00 Rightside; Section 3 0+000.00-0+100.00 Leftside; Canal Length= 1000.00 m; Covered Canal (Driveway); Section 1; Total L= 24.0 l.m.; Section 2; Total L= 27.0 l.m) is hereby awarded to your firm as the Bidder with the Single Calculated Responsive Bid at a contract price equivalent to FOUR MILLION THREE HUNDRED FORTY NINE THOUSAND SIXTY SEVEN PESOS AND 79/100 ONLY (Php 4,349,067.79).

Project/ Number	Description	Quantity	/Unit	Unit Cost (Php)	Total Amount (Php)
B.5	Billboards	2.00	рс	7,493.17	14,986.34
101(1)	Removal of Structures and Obstruction	1.00	l.s	103,304.62	103,304.62
103(1)a	Structure Excavation (Common Soil)	858.28	cu.m.	254.05	218,046.03
404(1)a	Reinforcing Steel Bars Grade 40	18722.26	kgs	62.29	1,166,209.58
405(1)a2	Structural Concrete Class A	50.91	cu.m.	13,152.46	669,591.74
804(4)	Gravel Fill	110.00	cu.m.	1,442.24	158,646.40
1027(1)	Cement Plaster Finish	2019.00	m ²	142.17	287,041.23
1046(2)a2	150 mm CHB Non Load Bearing Wall (including Reinforcing Steel)	2019.00	m²	820.33	1,656,246.27
SPL-I	Bargrates	1.00	l.s	74,995.58	74,995.58
	TOTAL Php 4,349,067.7				

The project shall be completed within **Ninety (90) calendar days**, in accordance with the approved plans, specifications, and program of work.

You are therefore, required within ten (10) days from the receipt of this Notice of Award, to formally enter into a contract with the Provincial Government of Oriental Mindoro.

You are also required to submit the **Performance Security** in any of the following forms and amount stipulated in the hereunder schedule. Failure to enter into said contract or provide the Performance Security shall constitute sufficient ground for cancellation of this award and forfeiture of your Bid Security.



Republic of the Philippines

PROVINCIAL GOVERNMENT OF ORIENTAL MINDORO

Provincial Capitol Complex, Calapan 5200, Oriental Mindoro

BIDS AND AWARDS COMMITTEE

A	PERFORMANCE SECURITY							
	Form of Performance Security	Amount of Performance Security (Equal to Percentage of the Total Contract Price)						
	 Cash or cashier's/manager's check issued by a Universal or Commercial Bank. 							
1	2. Bank draft/guarantee or irrevocable letter of credit ssued by a Universal or Commercial Bank: Provided, nowever, that it shall be confirmed or authenticated by a Universal or Commercial Bank, if issued by a foreign bank.	Ten percent (10%)						
1	3. Surety bond callable upon demand issued by a surety or Insurance company duly certified by the insurance Commission as authorized to issue such security.	Thirty percent (30%)						

Please signify your acceptance of Award by affixing your signature below.

Very truly yours,

HUMERLITO A. DOLOR, MPA, Ph. D.

Provincial Governor

CONFORME:

SGDG CONSTRUCTION AND SUPPLIES

By:

DEMETRI

Proprietor¹

Date:

IB No. CW 2021-510



Republic of the Philippines

PROVINCIAL GOVERNMENT OF ORIENTAL MINDORO

Provincial Capitol Complex, Calapan 5200, Oriental Mindoro

BIDS AND AWARDS COMMITTEE

BAC RESOLUTION DECLARING SINGLE CALCULATED RESPONSIVE BID (SCRB) AND RECOMMENDING APPROVAL OF AWARD OF THE CONTRACT (INFRASTRUCTURE)

Resolution No. 520, Series of 2021

WHEREAS, there is an infrastructure project funded through the 5% PDRRMP Fund 2021 to be undertaken by the Provincial Government of Oriental Mindoro for the Construction of Open Canal at So. Centro, Quinabigan, Pinamalayan, Oriental Mindoro (Construction of Canals: Source of Aggregate: Bongabong River Morente; Canal Station Limit: Section 1 0+000.00-0+300.00 Leftside; Section 2 0+000.00-0+188.00 Leftside; 0+188.00-0+600.00 Rightside; Section 3 0+000.00-0+100.00 Leftside; Canal Length=1000.00m, Covered Canal(Driveway) Section 1 Total L=24.0 l.m., Section 2 Total L=27.0 l.m.);

WHEREAS, the Provincial Government of Oriental Mindoro thru its Bids and Awards Committee advertised the Notice of Invitation to Bid (IB No. CW-2021-510) in PhilGEPS Website on October 29, 2021 and posted in the Provincial Capitol Complex, Bulletin Board, Camilmil, Calapan City on even date for the Construction of Open Canal at So. Centro, Quinabigan, Pinamalayan, Oriental Mindoro (Construction of Canals: Source of Aggregate: Bongabong River Morente; Canal Station Limit: Section 1 0+000.00-0+300.00 Leftside; Section 2 0+000.00-0+188.00 Leftside; 0+188.00-0+600.00 Rightside; Section 3 0+000.00-0+100.00 Leftside; Canal Length=1000.00m, Covered Canal(Driveway) Section 1 Total L=24.0 l.m., Section 2 Total L=27.0 l.m.);

WHEREAS, in response to the said advertisement, one (1) prospective bidder/contractor submitted application for eligibility and purchased bid documents;

1. SGDG CONSTRUCTION AND SUPPLIES

WHEREAS, the opening of bid was held at BAC Office, Provincial Capitol Complex, Calapan City on November 19, 2021, the bids were received until 8:30 am and opened thereafter in accordance with the provisions of R.A. 9184 otherwise known as "Government Procurement Reform Act and its Implementing Rules and Regulations";

WHEREAS, during the opening of Bid on November 19, 2021 eligibility check was conducted to one bidder/contractor mentioned above and were found eligible by the BAC;

WHEREAS, the bid proposals submitted by SGDG CONSTRUCTION AND SUPPLIES was examined and found substantially complied with the technical and financial proposals, thereby making the bid proposals passed the preliminary examination of bid as the bid price read out as:

Bidder/Contractor	Bid Price As Read	Approved Budget for the Contract	% Variance from ABC 0.07%
SGDG CONSTRUCTION AND SUPPLIES	4,349,067.79	4,352,114.86	

WHEREAS, the detailed evaluation of bids conducted on November 19, 2021 found out that bid price of SGDG CONSTRUCTION AND SUPPLIES is deemed the most advantageous to the government and no minor arithmetic correction has been made and therefore, found to be the Single Calculated Bid;

Bidder/Contractor	Single Calculated Responsive Bid	Approved Budget for the Contract	% Variance from ABC 0.07%
SGDG CONSTRUCTION AND SUPPLIES	4,349,067.79	4,352,114.86	

WHEREAS, upon careful examination, validation and verification of eligibility, technical, financial requirements submitted by SGDG CONSTRUCTION AND SUPPLIES with Single Calculated Bid, its bid passed the post qualification process conducted on November 23, 2021, thereby making its bid found to be responsive;

NOW, THEREFORE, We the Members of the Bids and Awards Committee, in our meeting on November 29, 2021 hereby RESOLVE, as it is hereby RESOLVED:

Page – 2 Resolution No. 520, Series of 2021

- a) To declare SGDG CONSTRUCTION AND SUPPLIES with business address at Sapul, Calapan City, Oriental Mindoro as the bidder with Single Calculated Responsive Bid.
- b) To recommend that Provincial Government of Oriental Mindoro represented by the Provincial Governor enter into a contract with SGDG CONSTRUCTION AND SUPPLIES for the Construction of Open Canal at So. Centro, Quinabigan, Pinamalayan, Oriental Mindoro (Construction of Canals: Source of Aggregate: Bongabong River Morente; Canal Station Limit: Section 1 0+000.00-0+300.00 Leftside; Section 2 0+000.00-0+188.00 Leftside; 0+188.00-0+600.00 Rightside; Section 3 0+000.00-0+100.00 Leftside; Canal Length=1000.00m, Covered Canal(Driveway) Section 1 Total L=24.0 I.m., Section 2 Total L=27.0 I.m.) at a contract price equivalent to FOUR MILLION THREE HUNDRED FORTY NINE THOUSAND SIXTY SEVEN PESOS AND 79/100 ONLY (Php 4,349,067.79).
- c) To recommend to **HUMERLITO A. DOLOR**, Provincial Governor of Oriental Mindoro the approval of award and of contract to the bidder with Single Calculated Responsive Bid.

APPROVED.

ON LEAVE

MA. CRISTINA M. ALEGRE BAC Member ERLINDA G. BADILLO, DMD, DDPH
BAC Member

B

ROMEO L.PANER BAC Member CAESAR A. PANGILINAN JR., MPA, REA BAC Vice Chairperson

RECOMMENDING APPROVAL:

ATTY. EARL LIGORIO R. TURANO II
BAC Chairperson

APPROVED:

HUMERLITO A. DOLOR, MPA, PH.D.

Provincial Governor